

Plant Archives

Journal homepage: http://www.plantarchives.org
DOI Url: https://doi.org/10.51470/PLANTARCHIVES.2025.v25.supplement-2.349

INFLUENCE OF DEHANDING AND EXOGENOUS APPLICATION OF GROWTH REGULATORS ON THE POST-HARVEST PHYSIOLOGICAL AND QUALITY PARAMETERS OF BANANA CULTIVAR GRAND NAINE

K. Pavani^{1*}, T. Susila², M. Siva Prasad³ and Y. Sharat Kumar⁴

 ¹Department of Fruit Science, Dr YSR Horticultural University-College of Horticulture, Anantharajupeta, Annamayya district - 516105, Andhra Pradesh, India.
 ²Dr YSR Horticultural University-Horticultural Research Station, Vijayarai, Eluru district - 534475, Andhra Pradesh, India.
 ³Department of Horticulture, Dr YSR Horticultural University - College of Horticulture, Anantharajupeta, Annamayya district - 516105, Andhra Pradesh, India.
 *Department of Plant Physiology, Dr YSR Horticultural University - College of Horticulture, Chinalataripi, Prakasam district - 523115, Andhra Pradesh, India.
 *Corresponding author E-mail: kummaripavani210@gmail.com (Date of Receiving: 03-05-2025; Date of Acceptance: 08-07-2025)

ABSTRACT

An investigation was carried out to assess the impact of dehanding and bunch sprays of GA₃ and CPPU on the post-harvest characteristics of banana cv. Grand Naine at Dr. YSRHU-Banana Research Station, Pulivendula, A.P., India, during 2023-24. The experiment laid out in factorial randomised block design with de-handing and growth regulator sprays as factors and 12 different treatment combinations and replicated thrice. Retention of eight hands per bunch after dehanding showed minimum peel weight (28.28g) maximum pulp weight (119.87g) and Pulp: peel ratio (4.25). The highest pulp weight (116.40 g), pulp-to-peel ratio (3.91), shelf life (10.78), lowest peel weight (29.76 g) and physiological loss in weight (16.91%), were recorded in bunches sprayed with GA₃ 100 ppm + CPPU 4 ppm. The combination of retention of 8 hands per bunch and bunch spray of GA₃ 100 ppm + CPPU 4 ppm produced the highest Pulp weight (125.10 gm), Pulp: peel ratio (4.67) and lowest Peel weight (26.75 gm). The lowest percentage of Physiological loss in weight (16.41%) was recorded in the treatment combination of retention of nine hands per bunch after dehanding and bunch spray of GA₃ 100 ppm + CPPU 4 ppm. The Shelf life (11.55 days) was highest in retention of ten hands per bunch and spraying with GA₃ 100 ppm + CPPU 4 ppm.

**Keywords:* Grand Naine, Dehanding, CPPU, Shelf life, Physiological loss in weight.

Introduction

Bananas are the most widely cultivated fruit because they are affordable, nutritious and available year-round in India. Banana occupies 18% and 49% of global fruit production and one of the most significant tropical fruit crops. In 2020, global banana and plantain production reached 155.2 million tonnes, with bananas contributing 115.7 million tonnes (75%) and plantains 39.5 million tonnes (25%), which were

grown across 8.72 million hectares (FAO, 2020). Banana exports are valued at approximately US\$13.8 billion, with 20.07 million tonnes traded worldwide, and the Grand Naine variety alone represents over 90% of this global trade.

Bunch management is a common practice to enhance both yield and quality, enabling farmers to achieve higher market prices in banana farming. Finger size significantly varies within a banana bunch and often the distal hands (near the bottom) are 30-40% smaller than the proximal hands at the top. These small hands don't meet market standards and are either removed or sold for low costs. Dehanding, is a common practice in export-oriented banana production, involves removing two or three terminal hands from each bunch.

Plant growth regulators in small quantities can accelerate, slow down, or alter various processes within plants. The use of these regulators has led to notable improvements in growth, production, and quality in many fruit crops. GA_3 and CPPU play key roles in enhancing fruit size and quality. GA_3 and CPPU promotes cell division and enlargement, that enhances protein production and stimulates development of new tissues, which results in larger fruits (Hassan and Behary, 2021).

Material and Methods

The present experiment was carried out at the YSRHU-Banana Research Station, Dr **YSR** Horticultural University, Pulivendula, Andhra Pradesh, India during 2023- 2024 (coordinates:14°27'57.7"N 78°12'54.8"E). The experiment was planted in factorial randomized block design with four de-handing levels (D₁- retention of 8 hands after dehanding, D₂- retention of 9 hands after de-handing, D₃- retention of 10 hands after dehanding, D₄- no dehanding), and three growth regulator treatments (T₁- GA₃ 50 ppm + CPPU 4 ppm, T_2 - GA_3 100 ppm + CPPU 4 ppm, T_3 - Water spray). Observations on post-harvest parameters were recorded after the harvest. De-handing was done one week after the last hand opening, using a knife. Growth regulators GA₃ at concentrations of 50 ppm and 100 ppm, along with CPPU at 4 ppm, were used. Growth regulators were sprayed on banana bunches immediately after the opening of last hand and 15 days later (second application). Data were recorded on Pulp weight, Peel weight, Pulp: Peel ratio, Shelf life and Physiological loss in weight.

The data were analysed following the methods outlined by Panse and Sukhatme (1978) for a Factorial Randomized Block Design (FRBD). The analysis of variance was assessed using the F-test at a 5% significance level.

Results and Discussion

The results indicated that pulp weight, peel weight, and pulp-to-peel ratio were significantly affected by both dehanding and growth regulator sprays (Table 1). Significantly higher pulp weight (119.87 g) in fruits was recorded in bunches retained with 8 hands after dehanding. Spraying with GA_3 100 ppm + CPPU 4 ppm resulted in maximum pulp weight (116.40 g). with regard to interaction effects, the combination of retaining eight hands per bunch and spraying with GA_3 100 ppm + CPPU 4 ppm resulted in highest pulp weight of 125.10 g

The lowest peel weight (28.28 g) was recorded in bunches retained with eight hands retained after dehanding. Spraying of bunches with GA₃ 100 ppm + CPPU 4 ppm recorded the lowest peel weight (29.46 g). The combination of retaining eight hands per bunch after dehanding and spraying with GA₃ 100 ppm + CPPU 4 ppm resulted in lowest peel weight (26.75 g). These findings are in accordance with those of Wanichkul and Boonma (2009), Sarkar *et al.* (2015), and Deshmukh *et al.* (2023). Increase in soluble sugars in the pulp, which leads to osmotic movement of water from the peel to the pulp might be the reason for lower peel weight. These results are in tune with the findings of Tourky *et al.* (2014).

Highest pulp-to-peel ratio of 4.25 was recorded in bunches where eight hands were retained after dehanding. Application of GA_3 100 ppm + CPPU 4 ppm on bunches resulted in maximum pulp-to-peel ratio of 3.91. The combination of retaining eight hands per bunch and spraying with GA_3 100 ppm + CPPU 4 ppm recorded the highest pulp-to-peel ratio of 4.67. Similar results were reported by Sultana *et al.* (2012), Ghimire *et al.* (2021).

Removal of hands from bunch did not have any effect on shelf life, while significant differences in shelf life were observed due to growth regulator sprays and their interactions. Bunches sprayed with GA₃ 100 ppm + CPPU 4 ppm showed the longest shelf life (10.94 days). The interaction between dehanding and growth regulator sprays was significant. Combination of retaining ten hands after dehanding and spraying with GA₃ 100 ppm + CPPU 4 ppm extended the shelf life to 11.55 days compared to control (7.93). Gibberellic acid slows down the ripening process by controlling ethylene production, enzymatic activity and avoid transpirational losses (Sahithya *et al.*, 2015). These findings are in agreement with Shrestha (2010). Zomo *et al.* (2014).

K. Pavani et al. 2740

Table 1: Effect of Dehanding and bunch spray of GA₃ and CPPU on post-harvest attributes of banana cv. Grand Naine

Treatments	Pulp weight (gm)	Peel weight (gm)	Pulp: peel	Shelf life	Physiological loss in
		Dala	ratio	(days)	weight (%)
ъ	110.07		anding (D)	0.00	17.76
\mathbf{D}_1	119.87	28.28	4.25	9.80	17.76
\mathbf{D}_2	115.70	29.78	3.89	9.72	17.79
D_3	111.27	31.43	3.56	9.76	17.73
D_4	101.47	34.02	3.00	9.71	17.81
SE (m)	0.30	0.14	0.02	0.09	0.11
CD at 5%	0.91	0.40	0.05	NS	NS
	<u> </u>	Growth	regulators (T)	<u> </u>	
T_1	113.95	30.38	3.85	10.01	17.44
T_2	116.40	29.46	3.91	10.94	16.91
T_3	105.93	32.80	3.27	8.29	18.96
SE (m)	0.30	0.12	0.01	0.08	0.09
CD at 5%	0.92	0.35	0.04	0.22	0.27
		Intera	ction D x T		
D_1T_1	119.30	28.40	4.20	10.78	16.78
D_1T_2	125.10	26.75	4.67	10.22	16.58
D_1T_3	115.20	29.70	3.88	8.39	19.91
D_2T_1	118.90	29.26	4.07	9.89	17.48
D_2T_2	116.80	28.99	4.03	11.32	16.41
$D_2^2T_3^2$	111.40	31.09	3.58	7.95	19.48
D_3T_1	115.00	30.36	3.79	8.82	17.94
D_3T_2	112.00	29.73	3.77	11.55	16.91
D_3T_3	106.80	34.19	3.12	8.89	18.33
D_4T_1	112.20	33.48	3.35	10.54	17.56
$D_4^{\dagger}T_2^{\dagger}$	101.90	32.37	3.15	10.67	17.75
D_4T_3	90.30	36.22	2.49	7.93	18.11
SE (m)	0.50	0.24	0.03	0.16	0.18
CD at 5%	1.85	0.82	0.09	0.52	0.63

D1-8 hands after dehanding

D2- 9 hands after dehanding

D3- 10 hands after dehanding

D4- no dehanding

T1- GA₃ 50 ppm + CPPU 4 ppm

T2- GA₃ 100 ppm + CPPU 4 ppm

T3- Water spray

No significant change in physiological loss in weight was observed due to dehanding in the present investigation. Bunches sprayed with GA₃ 100 ppm + CPPU 4 ppm showed the lowest physiological weight loss in weight (16.91%). Retaining nine hands per bunch after dehanding combined with spraying of GA₃ 100 ppm + CPPU 4 ppm recorded minimum physiological loss in weight (16.41%) while retaining eight hands per bunch after dehanding combined with spraying of GA₃ 100 ppm + CPPU 4 ppm was at par. Fruits like banana, mango are climacteric in nature and are highly perishable during storage, which followed by texture loss and colour loss due to many physiological, biotic and abiotic factors that may occur after harvest (Sivakumar et al., 2011). GA3, markedly delayed the colour changes and extend the shelf life. Zoffolio et al. (2009) demonstrated that the preharvest of application **CPPU** and GA₃ together increased thickness of pedicel and cuticle content,

therefore maintained fruit quality of grape. GA_3 increases polyamine levels and the activity of the enzymes that produce them. This helps delay aging in plants, supports important physiological processes, and reduces weight loss, as shown by Valero *et al.* (1998) and Ghimire *et al.* (2021).

Conclusion

Dehanding and application of GA_3 and CPPU significantly improved the post-harvest qualities in banana. Retaining eight hands after dehanding produced higher pulp weight in fruits. Bunches Sprayed with GA_3 100 ppm + CPPU 4 ppm significantly increased the pulp weight. The spraying of bunches with GA_3 at 100 ppm combined with CPPU at 4 ppm recorded highest pulp weight, pulp-to-peel ratio, shelf life and lowest peel weight and physiological loss in weight.

Acknowledgement

'We thank Banana Research Station, Pulivendhula, YSR Kadapa, Andhra Pradesh, India, for the invaluable support in carrying out the research work.'

References

- Deshmukh, K.Y., Bharad, S.G., Wankhade, R.S., Magare, P.N., Raut, U.A. and Mahalle, S.P. (2023). Effect of bunch feeding and trimming on quality attributes and shelf life of banana. *The Pharma Innovation Journal.* **12**(12): 1795-1798.
- FAO (2020) Crops. FAOSTAT. Food and Agriculture Organization of the United Nations. Available at http://www.fao.org.
- Ghimire, R., Yadav, P.K., Khanal, S., Shrestha, A.K., Devkota, A.R. and Shrestha, J. (2021). Effect of different levels of gibberellic acid and kinetin on quality and self-life of banana (*Musa* spp.) fruits. *Heliyon*, 7(9).
- Hassan, A.E. and Behary, E.H.M. (2021). Effect of some gibberellic acid and forchlorfnuron application on productivity and berries development of early sweet grapes. *Menoufia Journal of Plant Production*. 6(5): 289-298.
- Panse, V.G. and Sukhatme, P.V. (1978). Statistical Methods for Agricultural Workers. *Indian Council of Agricultural Research Publication*. **3**: 87 89.
- Sahithya, B.R., Raju, B., Kulapati, H., Manjunatha, G. and Sagar, B.S. (2015). Phytohormones and signal molecules for shelf-life enhancement of Grand Naine banana fruit. *Bioscan.* 10(1): 141–145.

- Sarkar, S. (2015). Dehanding in improving fruit quality of banana. *International Journal of Bio-resource and Stress Management*. **6**(2): 198-201.
- Shrestha, B.K. (2010). Effect of Postharvest Treatments on Prolonging Shelf Life of Banana. MSc Thesis. Department of Horticulture. Agriculture and Forestry University, Rampur, Chitwan, Nepal.
- Sivakumar, D., Jiang, J. and Yahia, E.M. (2011). Maintaining mango (*Mangifera indica* L.) fruit quality during the export chain. *Food Res. Int.*, **44:** 1254-1263.
- Sultana, M.S., Islam, M.Z., Shamim, A.H.M. and Mondal, M.F. (2012). Effect of growth regulators on physical changes and shelf life of banana during storage. *International Journal of Sustainable Crop Production*. 7(3): 31-35.
- Tourky, M.N., Taraibh, M.E. and EI-Eryan, E.E. (2014). Physiological studies on the marketability of Williams Banana fruits. *American Journal of Plant Physiology*, **9**(1): 1–15.
- Valero, D., Martinez, D., Riquelme, F. and Serrano, M. (1998).
 Polyamine response to external mechanical bruising in two Mandarin cultivars. *Hortscience*, 33: 1220–1223.
- Wanichkul, K. and Boonma, S. (2009). Influence of hand thinning on yield and fruit quality of banana [*Musa* (ABB group) 'Kluai Namwa Kom']. *Agricultural Science Journal.* **40**(1): 185-188.
- Zoffoli, J., Latorre, B. and Naranjo, P. (2009). Preharvest applications of growth regulators and their effect on postharvest quality of table grapes during cold storage. *Postharvest Biol. Technol.*, 51, 183-192.
- Zomo, S.A., Ismail, S.M., Jahan, M., Kabir, K. and Kabir, M.H. (2014). Chemical properties and shelf life of Banana (*Musa sapientum* L.) as influenced by different postharvest treatments. *Agric*. 12(2): 6-17.